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QUESTION 1

What is Character Concatenate method used for?

A. To investigate one or more fields to uncover any relationship between the field values.
B. To analyze data using one or more character masks.

C. To generate reportsfor frequency and pattern references.

D. All of the above.

Correct Answer: D

QUESTION 2

Which of the following is TRUE regarding the use of Match Blocking?

A. Blocking fields are grouped using the primary key\\'s hash value.

B. Each Block has 1000 records.

C. Every record in the block becomes an automatic residual.

D. Blocking fields must match exactly for a candidate set to be created/evaluated.

Correct Answer: D

QUESTION 3

Which of the following is NOT a Match Stage comparison method?
A. UNCERT

B. FREQUENCY

C. NAME_UNCERT

D. CNT_DIFF

Correct Answer: B

QUESTION 4
What is DataStage/QualityStage Director client used for?
A. Publishing and managing shared information services.

B. Clearing log messages of a job.
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C. Compiling and executing a job.
D. Enabling run time column propagation for parallel jobs.

Correct Answer: B

QUESTION 5

Which of the following is a good description of data quality?
A. What are the sources of the data.

B. How many volumes of data there are.

C. How reliable is the accuracy of the data.

D. How many variations of the data there are.

Correct Answer: C

QUESTION 6

Which of the following examples represents "inconsistent standards"??
A. DataSource 1: 99999, Data Source 2: 41102

B. Data Source 1: CA, Data Source 2: Calif

C. Data Source 1:, Data Source 2: 415-392-6000

D. Data Source 1: Robert Jones TTE, Data Source 2: FBO Robert Jones

Correct Answer: B

QUESTION 7

Which of the following are validcharacter masks used in data investigation?
A.C, T, X

B.T,X Z

C.C, Xz

D. All of the above

Correct Answer: A

QUESTION 8
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Which of the following is TRUE regarding the use of Survive Rules?

A. Survive Rules contains one or more targets.

B. If any survive rule could not select a record, the firstrecord is selected as the best record.
C. If any survive rule could not select a record, the last record is selected as the best record.
D. All of the above.

Correct Answer: A

QUESTION 9

If data value 46A X32 is investigated using an all-T mask, what would the result look like?
A. nncbcnn

B. nnabann

C. nnxxxnn

D. nnc-cnn

Correct Answer: B

QUESTION 10

Which of the following rules will retain FIELD1 with the longest last name and TITLEequals to "MR"?
A. FIELD1: SIZEOF(TRIM(c."LASTNAME"))= SIZEOF(TRIM(c."LASTNAME")) AND

D. TITLE="MR"

E. FIELD1: SIZEOF(TRIM(c."LASTNAME"))>= SIZEOF(TRIM(b."LASTNAME")) ANDb.TITLE="MR"
F. FIELD1: SIZEOF(TRIM(c."LASTNAME"))>= SIZEOF(TRIM(b."LASTNAME")) AND

G. TITLE="MR"

Correct Answer: D
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